Quadratic Equations —Quick Reference

‘What is a Quadratic Equation? Solving Equations by Factoring
axl+bx+c Solve: x? - Tx+2 =40 «—— Qurequafion is notequal fo 0.
®K—Tx+2 +10=-10+10 Before we can factor, we must
ax? thx +c =0 234 3x+4=0 set our equation equalto 0.
t 7 t A it Add 10 fo both sides
coefficients  constant coefficients constant

a and b are ceefficients and cis a constant. The ane factor that
identifies these expressions as quadratic is the exponent 2. The firsl
term must always be ax?, and a cannot be 0.

Solving Simple Quadratic Equations

W—4 =77 Qurgoal is to get x by itself on the laft
hand side ofthe eguation. We must get nd
ofthe -4 (first) then the exponent 2.

R—d+d=TT+4 Add 4 to both sides of the eguation.

x=81 Simplify: 77 +4 = 81

Vai=+yBL Take the square roat of both sides.
(Remember (o use the + sign.)

x=x8 Thereare 2 solutions. X is equalto

positive 8 and negative 9.

¥-Tx+12=0

(- 4) (x -3} =0

x—4=0 or *x—3=0

x=4 or

Check:

¥E—Tx+2 =10

4274} +2 =10
A0=-10E

¥2— Tx 42 =10
373 +2 =10
S10=-10G

Wow ourequation isequalto O |
can factor.

Fartor 2 —Tx+12

Setboth factars equalto 0. (The
zem-factor property)

Substitute the two solutions info
the oniginal equation.
4works! When | substiluted |

got an answeraf-10.

Jworks! When | substituted |
got an answerof-10.

Ifai=b,then a=yb or a=-4yb
This can also be written as.
a=-+b

Read as. a = "plus or minus” the square root of b.

C
+— hvpotenuse

Given any guadralic equation:

ax®+bx+c=0

We can substitute the values for a, b, & cinto the following formula

andsolve.

x =

—b £ +/b* — dar
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